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- Instructions to Candidates

Do not open this booklet untif you are told to do so.
Follow all instructions carefuily.
- Answer all questions.



Section A : Multiple Choice Questions (60 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4) on the Optical Answer Sheet.

1. The fruits shown below are classified according to their methods of
dispersal.
0 Group A Group B Group C

pong pong

Which one of the following sets of fruits has been classified correctly?

Group A Group B Group C
(1} tomato rubber balsam
(2) coconut love grass water lily
(3) mimosa kapok lalang
(4) chilli shorea - fotus
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2. The diagram below shows the stages of growth of a plant.

Which one of the followin

Adult piant

r Seediing f
D

|

Flower

g shows the correct representation of A, B, C and

D?
A B C D ]
1) Germination Fruit Seed Dispersal o
{2) Fertilisation ~ruit Seed Germination
32 Dispersal Seed Fruit Pollination
()R] Pollination Seed Fruit Fertilisation
3. Jenny and her friends carried out an experiment using two shorea fruits.

These were the steps they took.

‘They were trying to find out

(1)
{2)  the direction of the wind X
3) Iif the distance travelied b
(4) if the wing-like structure
jonger
CHS/SC/IP5/SA112008

A Collect two shorea fruits,
Cut off the wing-like structure of one fruit.

taken for each fruit to reach the ground.

B
C Drop both fruits from the same height and record the time
D

Repeat the experiment three times.

the strength of the wind

y the shorea fruit depended on the wind
of the shorea fruit helped it to stay in the air
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4. The diagram below shows a flower with both male and female parts.

Anther

A group of pupils wanted to find out if a fruit will develop when a certain
part of the flower is removed. They removed different parts of three
identical flowers, A, B and C, of the same plant as shown below.

—~ T AT
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IR Ji
Flower A Flower B Flower C

They then dusted the pollen grains from the same type of flower over
flowers A, B and C. They observed the flowers for two weeks. Which of
the flowers will most likely develop into a fruit?

(1 C onily

{2) A and B only
(3) B and C only
(4) A, BandC
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5. The diagram below shows a magnified picture of the underside of 3 leaf.
Which part of the leaf allows it to exchange gases with the surroundings?

{4)

6. This is picture of a canna piant.

shoot -

The part of the plant marked “X is useful to the plant because it

A protects the plant

B anchors the plant
C . stores food for the plant
D has buds inat grow into a new plant

(1) AandBonly

(2)  Aand C only

(3) A, BandConly

(4) B, C and D only .
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7. The diagram below shows a simplified diagram of a sperm cell.

The function of the part fabelled A is to

(1) protect the sperm
(2) balance the sperm
(3) help the spearm fo move

(4) provide the sperm with food

B. The following table shows the comparison between the sexual
reproduction in humans and plants. :

Plants Humans
Female reproductive cell X Z
Male reproduction cell poilen grains sperm
After fertilization Y A baby is formed

What are the missing information in the table above.

X

Y

Z

(M ————kEgg—""""—Seedsare-formed—~ ——————ovam

2) Qvary Fruits are formed ovary

(3) Stigma Fruits are formed ovum

4) Egg Seeds are formed _ovary
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9. The diagram below shows a part of Joshua's family tree.

Male with straight hair

O Female with curly hair - }

Female with straight hair

Which one of the following represents Joshua's uncle who has curfy hair?

() A
2 8
3y C
4 D
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10, A few pupils constructed 3 simple incubator as shown in the diagram.
They bought some hen’s eggs from a market and placed three of them
inside the incubator. They observed the eggs for 21 days. However, at the
end of the period, the eggs did not hatch into chicks.

air hole polystyrene box

thermometer
air hole

wire mesh

bowl of aiuminium -
waler foil

What could be the reasons why the eggs did not hatch?

(M There is air in the incubator.

(2} The eggs were not feriilised:

(3)  The temperature was just right.

(4) There is not enough water in the bowi.
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11 Study the classification table below.

Fedtilisation

Tiger
Lizard

Frog
Salmon -
F

Which of the following would compiete the classification table?

D E F
{H Internal External Toad
{2) Extemal Internal Toad
(3) Internal Internal Dog
4 External External Dog
12, Study the diagram below carefuily.
- ANI
give out -~ MALS T~ takenin by
-~ - o =
CARBON DIOXIDE ] ) OXYGEN
taken in by give out

A

-

e
H ~
give out "~ _

e

~ PLANTS -

-

- ~ taken in by

When does the process, indicated by the arrows in broken lines { )

take place?

(1) All the time

(2) Oniy at ni
3) Only in the day

ght

(4} Only in the presence of light

CHS/SCIPSISA1/2008
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13. Some green plants were placed in a closed glass jar and left by an open

window.

Which one of the following graphs will show the amount of oxygen found
in the glass jar from 6 amto 6 pm?

Amount of oxygen

n A
2 B
3) ¢
4 D
CHS/ISC/PSISA1/2008
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6 am

Time of day
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14. The flow chart below shows the processes involved in the human
digestive system.
Chewing of Muscular Churning of
Food ' food into contractions food and
enters >t smailer =P} to move food P digestion
pieces along
<
=2 Y 4
Il +
i ,/
. ; . s -
g e nasn s eent S z C |
: Production of : Production of Ofo é?; e:i;zrr:
: substance W i ! substance X
_______________________________ Movement
i Extraction of - _ _ | ofwaste for
! substance Y storage in
------------------------------- the rectum
Based on the information above, what are substances W, XandyY
respectively? 3
Substance W Substance X Substance Y
N digestive juice saliva water
(2) digestive juice saliva nutrients
{3} saliva digestive juice nutrients
(4) saliva digestive juice water
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Which one of the diagrams shows the correct division of a healthy cell to

form new celis?

15.
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16. Ben, Simon, Maggie and Jenny were asked to study the diagram of a cell
below.

Each child selected a labeiled part of the cell and gave a comment on the
part. Who made the correct comment(s)?

A is the chloroplast that
contains chiorophyll for
photosvynthesis.

B is the cytoplasm that atlows
only certain materials to
move in and out of the cell.

Ben Simon

D is the nucleus which contains
hereditary materials and controls
all activities in the cell.

C is the cell wall that
gives the cell its shape.

Maggie Jenny’

(1)  Benonly"

{2) Ben and Simon only

{3) Ben and Maggie only
(4)  Jenny and Maggie only~
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17.

Study the flowchart provided below.

r Start

Yes

Does it have

chioroplasts? U
- Does it Yes v ’
reproduce b
budding?
w
Which of the following options best represents U, V, W
respectively?
U \'4 W
1) Moss Amoeba Bacterium ]
(2) Fern Yeast Aigae
3) Cactus Yeast Amoeba
(4 Mushroom Yeast Paramecium
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18.  The diagram shows a model of the Sun and the Earth.

If Earth had completed one round atong path Z, it would have made

(1)
2)
S
“)

19.  Which of the following staiements about the Sun is / are true?

turns about X.

1
24
28
365

A The Sun is the only star in space:
B The Sun is made up of burning gases.
C The Sun’s gravity keeps the planets in orbit.

{1) A only

2) B only

(3) A and B only

{4) B and C only
CHS/SCIPSISA1/2008
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20.  Study the flow chart below.

Objects in space

|

Has -.
atmosphere?

No :
» Mercury

Is 96% No

carbon
W
. 1 Yes |

[sit
nearest to
Earth?

Earth

B

No

* Mars

Planet X

Which one of the statements best describes the Planet X?

(1) ltis a big planet.
(2) it has no atmosphere.

(3} It is completely covered by carbon dioxide,
{4) it is the closest planet in distance to Earth;
CHS/SC/P5/SA1/2008
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21. Which one of the following shows the position of the Sun at 4pm?

N
(1) {L
(3) | ) (4
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22 The diagram below shows an obj

at their base.

Which of the following shadows can be form
is shone from different directions?

P
(1) P only
{2) P and Q oniy
(3) P and R only
4) P, Qand R
CHS/SCIP5ISA1/2008

ect formed by sticking two plastic cones

ed by the object when a torch
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23.  The diagram below shows a torch shining on a square piece of clear glass
and a ball.

- ball

screen clear glass

A shadow is cast on the screen.
What could be done to enlarge the shadow?

(1) Remove the clear glass.

(2)  Move the ball nearer to the screen.

{3) Move the ball nearer to the clear glass.
{(4)  Move the torch away from the clear glass.
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24

Steel ball suspended
in the air by a string

Iron plate

____ Bar magnet

pu—

Jeremy set up an experiment as shown above. As he slid a strong bar
magnet under the iron plate as indicated by the arrow, the ball did not

move al all. Which one of the following is the most likely reason for the
observation he made?

M) The magnetic force is not strong enough.

(2}  Jeremy siid the bar magnet at the wrong speed,

(3) The suspended ball is not attracted to the magnet.

(4) Magnetic forces cannot pass through magnetic materials.,
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25, The diagram below shows three ring magnets.

-Which of the following shows the possible poles of the ring magnets?

(1 (2}

(3) ' - (4)
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26.

Box A contains an unknown object. Band C are wires joined to the object.
Ryan joins wire B to P and wire C to Q as shown below. The buib lights
up.

8 A C -
P Q
| = )
N e s ____./
I
i -
S

Hic2 B

.
However, when he joins & to Q and wire &

to P, the bulb does not fight up
Which ane of the following could be in Box

A?
(N 2) __
an ice-cream slick
3) (4)
G
a battery a metal ruler
CHSISCIPS/SA1/2008
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27, Anna set up the circuit below. She was told that among the objects A, B, C
and D, three were conduciors.

___,]'_

!
bo } bell f} A e
X { i
containing 1 1 £ i ﬁ
batteries i ’ ( G = S
L y _ ) j
_ & /. D 3
_ éfd bell g
switc & ‘{

—

'
|

O

When she clesed the switch, she observed that only 3 bells in the circuit
rang.

Which three of the objects A, B, C or D were conductors?

(1} A, BandC
{2) B,Cand D
3) A CandD
4. A/ BandD
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28.  Study the actual circuit below.

(1)

CHS/SC/PSISA1/2008
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29.  The diagram below shows a circuit tester.

board, the following was observed.

Circuit tester

When the circuit board was attached to the various points on a circuit

Points connected to Did the bulb light up?
AtoB - Yes
BioC No
CioD Yes
Dto E Yes

Which one of the following circuit boards was being tested above?

(B} A B
. ° E
: c 5
O :

/

o %
C D
CHS/SCP5/ISA1/2008
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]
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30.  Jenny used the sei-up shown below to test if a material can conduct

electricity.

bulb

N

‘\\
S
o

Kf‘::
L d
.

b,

Iy
‘\\:‘:

The results of her expeniment are shown in the table below.

Objects used Triat 4 =gt p{-?iiﬁizeci S the%ti););! g e Trial 4
: Steecl: ll:;:)apf-zr Bright Bright Bright Bright
Alug’tl::?gum Bright Dim Bright Dim
Pencil Lead Dim Dim Dim Bright
Copper Wire Very Bright | Very Bright | Very Bright Bright

Based on the given data, arrange the objects according to their electrical

conductivity, from the strongest to the weakest.

(1) Pencil lead, aluminum strip, steel paper clip, copper wire
(2) Copper wire, steel paper clip, aluminium strip, pencil {ead
(3) Aluminium strip, copper wire, pencil lead, steel paper clip
(4) Steel paper clip, Copper wire, aluminium strip, pencii lead

END OF SECTION A
CHS/SC/PS/SA1/2008
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Section B : Open-Ended Questions (40 marks)

Read the foliowing questions carefully and write your answers in the space
provided. The maximum mark that can be awarded is shown at the end of
each question or part-question.

31.  Mrs Tang collected 4 identical fruits and subjected them to different
temperatures. The results of the experiment are recorded in the table
below.
Temperature 15°C 25°C 35°C 45°C
: Splits open | Splits open Splits open
Effect on Fruits | No splitting after 3 after 1 ¥4 after ¥4
hours hours hour
Distance :
scattered - 1 metre 2.5 metres 5 metres

(@) What will happen to the fruit if the temperature is between 10°C to
15°C? g

{b) What is the effect of temperature on the fruits? [2}
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32. These are pictures of three different species of mushrooms.

Poricbelio mushroom Button mushroom Enoki mushroom

(a) How are the species similar in their veproduction? {1}

{b) Based on the pictures above, how is the Enoki mushroom different
from the other species? A {1

(c) The mushrooms can be sorted into two groups, A and B. The Enoki
and Button mushrooms are in Group A and the Poriobelio
mushroom in Group B.

What is the property used for this classification? [1]
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33.  The diagram shows Gerald's family tree.

Great-grandfather  Great-grandmother KEY

D—O D Male

O umae
o

O tro A _
o b &b

(@) How many children do Gerald's grandparenis have?

Gerald

(1]

{b) How many uncles does Gerald have?

{1

(c) Shade the symboi which represents Gerald's grandmother. [}

CHS/SC/P5/SA1/2008
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34. When an embryo in an egg is growing into a chick , some changes in the
mass of the embryo and the yolk take place.

In the graph, the two curves show changes in“the mass of the yolk and the

chick embryo. -
Mass / g P

Q

0 S

Time / days

(a}  Which curve, P or Q, shows how the mass ofthe yolk changes?
- Explain your choice of answer. [2]

(b)  When the chick is developing inside the egg, what do you think is
~ the function of the egg shell? {1

1
H
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35. Sarah set up the following modei to show how the respiratory system
works.

i straw

slopper

f +—— plastic container

,
1
r
..e}-
!

PN i
——d % HE ]
Ly t

S F——————— bhalloons

{
- :
- - e == rubber sheet

When she pulled the rubber sheet downwards, she noticed the balloons
inflating.

(a) What is thé body function she was trying to demonstrate? 1]

(b) Which parts of the human respiratory system do the following

represent?
)] straw (V4]
(i) rubber sheet {¥4]
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36.  (a) The graph below shows the growth curve of the population of a
uniceliular organism.

-

64

Number of Celis

ST

7
G 20 40 60 80
Time / min
(i) State the number of organisms that will be present in the 60"
minute. ' (1}

{ii) What is the relationship between the length of time and the number
of cells? - [1
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36, (b The picture below shows g microscope.

{i} Name the part labelled T {1]

(i)  State the function of the part labelled T. [1]
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37. The diagram below shows three types of plant cells.

CeliC

(a) List one way in which Celis A and C are different. (Do not compare
shape and size.) {1]

{b) List one way in which Cells B and C are similar. (Dérnot compare
shape and size.) 1

(c) Which of the cells isfare able to carry out photosynthesis?
Explain the reason for your choice. 7}
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38.

39.

(a} Why does the Moon‘shine’ at night even though it does not

give out its own light?

It

(b) Explain wh

.clear.

y we cannot see the New Moon even though the sky is

]

Study the table given below.

Planet A Planet B Planet C Planet D
Presence of
Water No Yes Yes No
[¢)
78% % 78% 78%
nitrogen 21 ;?/e nitrogen nitrogen
21% oxygen hvdro °e 21% oxygen | 21% oxygen
1 Air 1% carbon 1(}( c ?bc?n 1% carbon 1% carbon
Composition dioxide, o dioxide, dioxide,
dioxide,
~waler water water water
vapour and vapour and | Vapourand | vapour and
rare gases P rare gases | rare gases
rare gases
Temperature -4°C 24°C 25°C 104°C
- - F}v
(a) Which planet is nearest the Sun? [1]
(b) Wﬁich planet is most suitable f6r living things? [0
(c) Explain your answer given in part {(b). [1]
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40.  Study the classification table below.

Objects in space

Reflect light Give out fight’
| ] | |
Man-made Naturai In our solar Not in our
system solar system
Satellite

C

Revolge around
the Earth

Does not revolve
around the Earth

A

B

Using the classification table above, complete the table below by writing A,

B, C and D in the correct boxes to identify the objects in space. 2]
Star a)
Neptune. b)
Sun c)
Moon d)
CHS/SC/PSISA1/2008
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41. (&) Ben set up an experiment as shown below.

{bject
1 /
Datalogger
torch Position S _ .

Ben put Object A at position S and he shone the torch on it.

A datalegger was placed behind the object to measure the amount of light
passing through Object A as shown. He repeated the experiment with
Objects B,C and D.

The table below shows the readings which measured the amount of fight
passing through the objects when different objects were placed at Position

S.
Objects Amount of Light 7 lux
A 325
B 5000
C 1240
D 655

pa——
ko
—

Tick the most possible material that is used to make Object B.

lron
Glass
Tracing paper
Wood
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41.  (b)  Jerry set up the apparatus shown below.

screen 1

|
|

ﬁfi light source

Objects A, B and C are placed in a straight line between the screen and
the light source. The table below provides information about Objects A, B

and C.
’7 Object [ Degree of Height / cm Width fcm |
Transparency J
! A transparent 20 20 i
i B8 transparent , 20 20 _{
| C opaque 20 20

Based on the information given, draw the shadow that would be cast on
the screen in the box provided. The drawing does not have to be to scale.

(1
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42.

- N
Object X Magnet A
- 80 g
S
- - s
_ Magnet B 80 g
N

Object X and Magnet A are balanced on a rod as shown in the diagram.
Magnet B is resting on a box with its south pole facing the south pole of
Magnet A.

(a) Is object X greater than, equal to or less than 80 g’ [V2]

(b)  Will object X and magnetA still balance if magnet B is repiaced by
' a zinc bar of the same size? [¥4}

(c) Explain your answer to (b) above. (1
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43.  Study the circuit below.

f@iﬂ%

?ﬂ@};’- ‘

w -

(@) _Aswitch is to be connected ta the circuit so that it controls only one
bulb while keeping the other three lighted.
Mark an‘X‘on the diagram to show where the switch shouid be
connected. {1}

(b} Which other butb will not fighit up if Bulb U fuses? {1]
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44.  Eddy set up the circuit below with two bulhs, L1 and L2, and three
switches, S1, 52 and S3.
S L1
(I
c @
= - +
= S2 J\ S3 1\
+ o T\
L2
B
He wanted to find out which of the bulbs, 1.1 and l__2, will light up when the
switches were opened and closed. He recorded some of the data he
collected in the table shown below. Fill in the emply boxes to complete the
table. (2]
| Switches Did the bulb light up?
S1 52 S3 L1 .2
open close close a) ' no
1
close open b) yes yes
c) opeéen close no no
close open open no d)
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45,

The diagram shows a circuit withh 4 metai rods connected tc an instrument
that measures the amount of electricity in the circuit.

~  wstrumeant ihat

- measures the

I i E @ = amount of

i electricity
=1 ceppec rod switch 1
copper rod switch 2
copper rod swiich 3
N 1
¥ o -
copper rod 7 swilch 4
§ & *

Andrew closed switch 1 and kept the other switchas vpen. He then
observed the reading on the instrument. He repeated the experiment by
closing switches 2, 3 and 4 in turn. He made sure only one swilch was
cicsed at any one time.

{(a) What is the aim of Andrew’s experiment? 1]

b} State one variable that was kept the same for the experiment 1o be
a fair one ‘ {11
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46. Using only 4 wires, connect the 3 batteries and the bulb below to form a

circuit so that the bulb will light up the brightest. 2}
/ I
£
= 4]

% END OF PAPER ¢}

HAVE YOU CHECKED YOUR ANSWERS?
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35)a)She was g
b)i)Wind

) oﬁemontcate resplratlon.

pe” u)dlaphragm '

)
les time i mcrease%_ the-number of cells also ingr#
b)')ObJectlvezlens. e §

u)It enabl ._ys@io‘magmﬁthe specimen uiido

es.

37)a)CelliEihas chloroplast but cell Adg

ooy ST g o

)'B?),. h§: ”Féehloroplast

Tr

en and the rlght iﬁlemp

e

4i2)a)Less than 80&
b)No.
. €)Zinc is not a magnetic material and it @nnot be magnetized

r_@__h 8 bYw
-

43)a)
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44)a)No
b)Close
c)Open
d)No

45)a)It is to find out if the length of the copper rod affects the

amount of electricity in the circuit.
b)The number and arrangement of batteries.

e

46)

TN T
-
P
J— =
i F— +E fJ
S . 11_\
| [+ |
i ; |
L § i
{ — |
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